K.V.M. GLOBAL SCHOOL PAI (KAITHAL)
ENTRANCE TEST (Set-C)

CLASS 11th
TIME: 1:00 HOUR MAX. MARKS: 50
Score: Q
Student's name:- Father's name:-
Contact no. Applied for class:- Medium:-
Previous school name:- Village:-
fecr

1. aISAT &1 Giey faTog g -

(A)TT + 37T (B) 9% + A (C) 9 + AT (D) A5 + A
2. §IH #H 39 Bler -

(A) & (B) & ©) | (D) ¥
3. 3ToH H YcIg Bial -

(A) & (B) 3% (C) 3% (D) &=
4. 3TCRT T gATFardr for@r -

(A) 3ram (B) fcer (C) weAfa (D) 3rgAfa
5. Idd & fdellA Usg -

(A) TR (B)3Tdel (C) 38w §3m (D) foreger

6. IHTH T Afeger 31T § -




(A) IrdH (B) H&T (C) af&r (D) =T

7. 91T Helall & § dTel (GFd H YIFd TelhR FI ATH TABY)
(A) 39T (B) ¥9h (C) 3coeT (D) HfaeAfFa
8. Tl T alel HeTaY &1 HA FAT3N -

(A) HHIES TE] (B) HFARSTA &l AT
(C)aaTa?——c?rtﬂ@ftrsTgm (D) Tr H T
9. A ersg forer FEd 87

ENGLISH
11. Babies when they are hungry.
(A) cry (B) cries (C) cried (D) are crying
12. We always respect our elders.
(A) can (B) will (C) should (D) could
13. Children like fire crackers at the time of Diwali.
(A) burst  (B) having burst  (C) to burst (D) bursting

14. How much will it cost to go on holiday to Bali?

(A) a (B) an (C) the (D) no article
2




15. He does not help me.
(A) ' am not helped by him.
(B) I was not helped by him.
(C) I had been helped by him.
(D) I am not being helped by him.
16. We work we may earn money.
(A) because (B) therefore (C) so that (D) if
17. He says to me," | am your friend."
(A) He says me that | was his friend.
(B) He tells me that he is my friend.
(C) He told me that he is my friend.

(D) He says to me that | am his friend.

18. A team of players come here.

(A) is (B) has (C) was (D) were
19. There is a temple the river.

(A) on (B) by (C) into (D) at
20. He not oppose me.

(A) need (B) dare (C) should (D) would

MATHEMATICS

21. If radius of a circle is doubled, then its diameter will be

gfe god T AT ST T &1 ST, o A gIam -

(A) Doubled (a’lﬂlFlT) (B) tripled (ﬁ?j;rlT) (C) four times (EI‘TﬁlFIT)

(D) none




22. The area of quadrant of a circle with circumference 44 cm.

44 FEHET AR arel god & TJAT I &7Thol FIT §IaTT ?

(A) % cm? (B) %7 cm? (C) ry cm? (D) 77 cm?

23. The volume of cylinder with radius 4 cm and height 14 cm will be.
Bsar 4cmdyr =S 14 cmatel Sod FT I FAT T

(A)70cm3®  (B) 504 cm3 (C)708cm3 (D) none

24. Mode = Median - 2 Mean
E|§T“|7=|’7 = HATE S - 2 ATET
(A1 (B) 2 (€)3 (D) 4

25. Probability of getting 8 in single throw of a die.
IR T T IR hehel W 8@l I UTRAshar T gIaf|
(A) 1 (B)O (C) 1/6 (D) none

26. How many tangent can a circle have.

1gcd 1 fohcll Tl v gidr gl
(A)1 (B) Infinite (37=1eh) €0 (D) none
27. Sum of the interior angle of any polygon.
Wa’g’ﬁiﬁ%}iﬁz FIOT T ATeT FAT gIoTm|

(n—-2)x180°
) n

(A) (n - 2) x 180° (B (C) (n - 2) x 360° (D) none
28. Degree of polynomial x3 — 4x? + §x5 + 6

x3—4x2+§x5+6 $T g1 FIT PN




(A) 4 (B) 3 (C)5 (D) none
29. tan®0 — sec?0 =............
(A) 1 (B) -1 (C)2 (D) none
30. 2tan®0 — 2tan®0 = .............
(A)O (B) 2 (C)-2 (D) none
SCIENCE

31. Maximum content of biogas is

(A) Methane (B) CO, (C) ethane
AP A gaife AT & gar 87
(A) e (B) FIeaT SISIHTFATSS (C) v

32. Fe,05 + 2Al > A|203 + 2Fe

Which is reduced in the above reaction

(A) Fe,03 (B) 2Al (C) Al,03
Fe,05 + 2Al - Al,O5 + 2Fe

W &1 a5 fAThar #F fhaer T g3 87
(A) Fe,03 (B) 2Al (C) Al,04

33. Citric acid is found in

(A) Tomato (B) tamarind (C) lemon
fafes 3rar fovg A 9rm STaT 87
(A) THTY H (B) SH H (C) =i #
34. How many groups are there in Mendeleev's periodic table
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(D) hydrogen

ONESEG)

(D) none

(D) none

(D) sour milk

O) @t gu #




(A) 18 (B) 16 (C)8 (D)6

HSollth T 3Tad ARV 7 fhds Hog & 2

(A) 18 (B) 16 €)8 (D) 6
35. Which of the following is not an example of biomass energy source?

(A) wood (B) gobar gas (C) nuclear energy (D) charcoal
farfaf@a & & Fla Sa@mr FAT A FT 361807 Jel g 2
(A) ST (B) aMe} 3T C)afAHT FaT (D) IRPIA

36. Which of the following term does not represent electrical power in circuit.

(A) IR (B) = ©) VI (D) =

fret # & Rz o @ a8 aefr &

(A) IR ®) = )V 0 &
37. Sperm are produced by

(A) seminal vesicle  (B) prostate gland  (C) scrotum (D) none

%maﬁwmaﬁam%?

(A) [hTT (B) Wi @Il (C) UT ahrer (D) 3T & IS =gl

38. The herbivores come at which tropic level
(A) first (B) second (C) third (D) fourth
QMHTENT T T Iy T 9T 319 &1
(A) ST (B) gfadra (C) it (D) Ty

39. In which of the following Multiple Fission occur.
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(A) Amoeba (B) Leishmania (C) bothaand b (D) Plasmodium
ferafaf@d # & frasl sgEs grar Bl
(A) 37eT & (B) oIFATTAT H (C)A @ B gl & (D) TollaTAISTd &

40. Placenta is embedded in

(A) oviduct (B) vagina (C) cervix (D) uterus

crder foRa & gar giar {1

(A) 37garfgemt & (B) A A (C)ar H (D) ITHTAT H
GENERAL KNOWLEDGE

41. 9T 9o e GI;T?
(A) RdsX 1934 (B) R®dew 1932 (C) RAds¥ 1930 (D) fAds¥ 1931
42. eI UTEl & YHE AdT Pl 4?2

(A) Ur &= (B) &Tell gcdTel  (C) §Tef IWMER (D) HGIcAT it

43. AW -U - YT fhTHT IUATT ATH g ?

(A) fafe Igurer (B) WRGR 1910 [&E  (C)dlrell ooidd U (D) HIs Al
44, AT F Fla W fog cuaeer §2

(A) TF gelld (B) feagel (C) Sg&elld (D) $1H & HIg e
45. gersael R T PlofeT e AR §IT ?

(A) 1985 (B) 1984 (C) 1992 (D) 1958

46. IRAT T4¢ & fohde 3T 8 ?




(A) 1 (B) 2 (C) 3 (D) 4
47. AR H el fohaal g il 92 & 2
(A) 5 (B) 6 (C) 7 (D) 8

48. IR &l Jafed Udd AWT ST ar g ?

(A) AT TRTC  (B) d=aT o (C) #gg & (D) 3=TTSHST
49. gRATOM AT HHT & TeEAT T el FEAT Fohelell 82

(A)80 (B)85  (C)90 (D) 92
50. R & e Trerrel &l @ § 2

(A) 75 feeel  (B) FES  (C) IooIg (D) I

Introduce yourself within 50 words.




50 2regl # 39T IR=T &




